
 
i.5

4 

 
e.54

 

 240 

 e.28 

Silencer Bracket
Cod.303439501

Aluminium spacer 
Cod.204297

Gp Corsa carbon
silencer Øi 54
Cod.303457473

2 Plain washer 6x12
Cod.200291

Allen screw M6X20 
T.C.Z.B. 
Cod.203508

Allen screw 
M6X14 T.C.Z.B. 
Cod.200257

Pipe 
Cod.303394201

2 Knurled nut M6
Cod.200333

S.s Bracket
Cod.083394501

3x Short helical spring
tensile 
Cod.303949001

 S.s cylinder bushing
cod.206539

 S.s flange
cod.206538

 e.90 

 e.54 

Allen screw M5X6 
T.C.Z.B. 
Cod.201044

DB-Killer Ø22
Cod.303430802

 
28,50  R

20
 

 R8,50 

 
8,50 

 63 

 
3,50 

 46 
 36 

 25° 
 S.s flange
cod.206538

 28 
+
+

0,30
0,10 

 25 
 31,50 

 
-
0
0,10 

 1
7 

 3
  

14
  2

,5
0 

 33,50 

 S.s cylinder bushing
cod.206539

ART. 3394

KAWASAKI Z125 PRO

FULL SYSTEM - GP CORSA CARBON


	DT-3394
	Vista del disegno1
	Vista del disegno4
	Vista del disegno5
	Vista del disegno6


